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: 80 — 83
P(X <80) = P(Z <T)

= P(Z < -0.75)
=1- P(Z<0.75)

=1-0.7734
=0.2266
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X~Geo(0.3)
7 |[P(X=4)=(0.3)(0.7)3
=0.1029
PB<X<K)=PX=4)+PX=5)
8 = (0.3)(0.7)% + (0.3)(0.7)*
= 0.17493
PX>4)=1-P(X<4)
. =1-(PX=1)+PX=2)+P(X=3)+P(X =4))
—1 - ('(‘0. 3)(0.7)% + (0.3)(0.7)* + (0.3)(0.7)% + (0.3)(0. 7)3)
= 0.2401
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X~B(6,0.3)
11 6
Pix=2)= (2) (0.3)%2(0.7)* = 0.324135
PX>4)=PX=5)+P(X=6)
6 6
12 B e i ST A
= (5) (0.3)3(0.7)' + (6) (0.3)%(0.7)?
= 0.01056321
B <X« 3)=PX=2)
G 4L Zray 74
13 2 (2)(0.3) (0.7)
= 0.324135
14 |E(X)=6(0.3) = 1.8
15 | P(Z < 1.93) = 0.9732
16 |P(Z < 0.72) = 0.7642
17 | P(Z > —-1.04) = P(Z < 1.04) = 0.8508
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P(-1.7<Z<3.3)=P(Z<3.3)-P(Z<-1.7)
=P(Z<3.3)-(1-P(Z<1.7))

18 = 0.9995 — (1 — 0.9554)
= 0.9995 — 0.0446
= 0.9549
X~N(55,4%)
P(X < 50) = P(Z g~ 55)
- = P(Z < —1.25)
=12 B(Z <'1.25)
=1 - 0.8944
~0.1056
P(50 < X < 58) :P(SO_—SS<Z<M,-)
4 4
=P(-1.25< Z < 0.75)
= P(Z < 0.75) — P(Z < —1.25)
- = P(Z < 0.75) - (1 - P(Z < 1.25))
=0.7734 — (1 — 0.8944)
=0.7734 — 0.1056
= 0.6678
P56 <X < 59):P(L;55<Z<¥)
v =P(0.25<Z < 1)

= P(Z <-1) - P(Z < 0.25)
=0.8413 — 0.5987
=0.2426
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, 55 — 55
P(X>55):P(Z>T)
=P(Z>0)
=1-P(Z<0)
=1-0.5

= 0.5

23

PO<Z<15) =P(Z<1.5)-P(Z<0)
=0.9332 -0.5
=0.4332

24

P(0.1<Z<0.31) =P(Z<0.31))-P(Z<0.1)
=0.6217 — 0.5398
= 0.0819

25

X~B(100,0.17)
E(X) =100(0.17) = 17
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X~Geo(0.1)
PX>5)=1-P(X<5)
=1-(PX=1D+PX=2)+PX=3)+PX=4)+P(X =5))
= 1—((0.1)(0.9)% + (0.1)(0.9)* + (0.1)(0.9)* + (0.1)(0.9)* + (0. 1)(0.9)*)
= 0.59049

PX>3)=1-P(X<3)
=1-(PX=1)+P(X=2)+P(X = 3))

27
7 == ((‘0. 1)(0.9)° + (0.1)(0.9)* + (0.1)(0. 9)2)
~0.729

28 |P(Z < a) = 0.638 = z = 0.35
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P(Z>a)=0.6
edalt gt Gomie S @ djbonalt Gani ey a5 A Amluelt fay (Jasal Jlai>YS
g —2 Aol Jhlawt 8w ilg @l @ asd OF gm0 Wigd € 0. 5 0 ST JlaiY dad 0 Loy
B(Z = a)=P@>1)
= 0.6 = P(Z > —2)
= 0.6 = P(Z < Z)
=SP(Z <2)=10.6
= z=10.25

= a=-0.25

X~N(250,4%)

P(X > 260) = P(Z > M)
= P(Z > 2.5)

= 1—P(Z<2.5)
=1-0.9938

= 0.0062

\ , 240 — 250 250 — 250
P(240 < X < 250) = P(——4—<Z<———4——-)

=P(-2.5<Z<0)

=P(Z < 0) - PlZ < ~2.5)
=P(Z 2 0) - (1 —P(Z < 2.5))
=0Ub ~(1='0.9938)

=0.5 - 0.0062

=0.4938

X~B(20,0.3)

P(X = 4) = (zf) (0.3)*(0.7)'6 = 0.1304
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PX22)=1-(P(X=0)+P(X=1))
e ((200) (0.3)°(0.7)2° + (210) (0.3)1(0. 7)19)

=0.9924

34

X~N(506,3%)
0.5L=500mL

P(X < 500) = P(Z < 500;&)
=P(Z < -2)
=1i=P(Z = 2)
=1-0.9772
=0.0228

n=100x0.0228 =2.28 = 2
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